1. Circle the correct answer.

a) This paragraph is about Christian Bale's ............. . (personality / physical changes / popular movies)
b) He became extremely .............. for the Machinist. (well-built / plump / skinny)

c) To lose weight, he only eats ............. . (doughnuts / apples / cheeseburgers)

d) He ... 46 kilos in one year for a Batman movie. (gains / loses [ becomes)

e) At the moment, Christian Bale is .............. . (overweight / fit / young)

2. Write Christian Bale’s physical appearance and character trait in each of the films.
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